

## THE NEW FUBINI-TYPE NUMBERS AND POLYNOMIALS

HYE KYUNG KIM AND TAEKYUN KIM

ABSTRACT. The  $n$ th Fubini number counts the ordered partitions of a set with  $n$  elements. There are many variants of Fubini numbers and polynomials. One of them is the degenerate Fubini polynomials which were introduced as a degenerate version of the Fubini polynomials. In this paper, we consider the new two-variables Fubini-type numbers and polynomials arising from  $p$ -adic fermionic integrals on  $\mathbb{Z}_p$  and those degenerate version. We derive some interesting properties, recurrence relations and explicit formulas for those numbers and polynomials.

2020 MATHEMATICS SUBJECT CLASSIFICATION. 05A17; 05A18; 11B73.

KEYWORDS AND PHRASES. Stirling numbers of the second kind; Bell numbers and polynomials;  $p$ -adic fermionic integral, two-variables Fubini numbers and polynomials.

### 1. INTRODUCTION

For any  $\lambda \in \mathbb{R}$ , the degenerate exponential function is defined by

$$(1) \quad e_{\lambda}^x(t) = (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!}, \quad (\text{see [8, 11-13]}),$$

where  $(x)_{0,\lambda} = 1$  and  $(x)_{n,\lambda} = x(x - \lambda) \cdots (x - (n - 1)\lambda)$ , ( $n \geq 1$ ).

The degenerate Stirling numbers of the second kind are given by

$$(2) \quad (x)_{n,\lambda} = \sum_{l=0}^n S_{2,\lambda}(n, l) (x)_l \quad (n \geq 0), \quad (\text{see [8, 11-13]}),$$

and the generating function

$$(3) \quad \frac{1}{k!} (e_{\lambda}(t) - 1)^k = \sum_{n=k}^{\infty} S_{2,\lambda}(n, k) \frac{t^n}{n!}, \quad (k \geq 0), \quad (\text{see [8, 11-13]}),$$

where  $(x)_0 = 1$  and  $(x)_n = x(x - 1) \cdots (x - (n - 1))$ , ( $n \geq 1$ ).

When  $\lambda \rightarrow 0$ ,  $S_2(n, k)$  are the Stirling numbers of the second kind.

By (3), we easily get

$$(4) \quad S_{2,\lambda}(n, k) = \frac{1}{k!} \sum_{j=0}^k \binom{k}{j} (-1)^{k-j} (j)_{n,\lambda}, \quad (\text{see [8]}).$$

It is well known that the degenerate Bell polynomials and are given by

$$\phi_{n,\lambda}(x) = \sum_{k=0}^n S_{2,\lambda}(n, k) x^k,$$

---

This work was supported by the Basic Science Research Program, the National Research Foundation of Korea, (NRF-2021R1F1A1050151).

and the generating function of them

$$(5) \quad e^{x(e_\lambda(t)-1)} = \sum_{n=0}^{\infty} \phi_{n,\lambda}(x) \frac{t^n}{n!}, \quad (\text{see [11]}).$$

When  $\lambda \rightarrow 0$ ,  $\phi_n(x)$  are the Bell polynomials.

The degenerate versions of some special numbers and polynomials' interests were not only in combinatorial and arithmetical properties but also in applications to differential equations, identities of symmetry and probability theory [2, 9, 10, 12-16]. These degenerate versions include the degenerate Stirling numbers of the first and second kinds, degenerate Bernoulli numbers of the second kind and degenerate Bell numbers and polynomials [9-16, 19].

Cayley(1859) [3] considered the ordered Bell numbers which used them to count certain plane trees with  $n + 1$  totally ordered leaves. The ordered Bell numbers are given by

$$(6) \quad \beta_n = \sum_{k=0}^n k! S_2(n, k), \quad (n \geq 0) \quad (\text{see [3, 6]}).$$

By (6), we have the generating function of  $F_n$  as

$$(7) \quad \frac{1}{2 - e^t} = \sum_{n=0}^{\infty} \beta_n \frac{t^n}{n!}, \quad (\text{see [3]}).$$

The two variables Fubini polynomials are given by

$$(8) \quad \frac{1}{1 - y(e^t - 1)} e^{xt} = \sum_{n=0}^{\infty} F_n(y | x) \frac{t^n}{n!}, \quad (\text{see [12, 13, 16]}),$$

when  $x = 0$ ,  $F_n(y) = F_n(y | 0)$  are called the Fubini numbers.

When  $x = 0$  and  $y = 1$  in (8), we have the ordered Bell numbers.

Moreover, the case  $y = -\frac{1}{2}$  in (8) gives the Euler polynomials  $E_n(x) = F_n(-\frac{1}{2}, x)$ . Recently, some authors have been very interested in arithmetic properties for the Fubini polynomials [5, 6, 7, 12, 13].

The degenerate two variables Fubini polynomials are given by

$$(9) \quad \frac{1}{1 - y(e_\lambda(t) - 1)} e_\lambda^x(t) = \sum_{n=0}^{\infty} F_{n,\lambda}(y | x) \frac{t^n}{n!}, \quad (\text{see [12, 13]}).$$

The  $p$ -adic analysis and their applications utilize  $p$ -adic distributions and  $p$ -adic measure,  $p$ -adic integrals,  $p$ -adic L-function, and other generalized functions. Among these, the  $p$ -adic integral and its applications are very important in finding solutions to special (differential) equations, real problems in both physics and engineering ([7, 9, 10, 14, 15, 17]).

Let  $p$  be a prime number with  $p \equiv 1 \pmod{2}$ . Throughout this paper,  $\mathbb{Z}_p$ ,  $\mathbb{Q}_p$  and  $\mathbb{C}_p$  will denote the ring of  $p$ -adic integers, the field of  $p$ -adic rational numbers and the completion of algebraic closure of  $\mathbb{Q}_p$ . Let  $|\cdot|_p$  be the  $p$ -adic norm with  $|p|_p = \frac{1}{p}$ .

For a  $\mathbb{C}_p$ -valued continuous function  $f$  on  $\mathbb{Z}_p$ , the  $p$ -adic fermionic integral on  $\mathbb{Z}_p$  is given by

$$\begin{aligned}
 (10) \quad I_{-1}(f) &= \int_{\mathbb{Z}_p} f(x) d\mu_{-1}(x) = \lim_{\mathbb{N} \rightarrow \infty} \sum_{x=0}^{p^{\mathbb{N}}-1} f(x) \mu_{-1}(x + p^{\mathbb{N}} \mathbb{Z}_p) \\
 &= \lim_{\mathbb{N} \rightarrow \infty} \sum_{x=0}^{p^{\mathbb{N}}-1} f(x) (-1)^x, \quad (\text{see [9, 10]}).
 \end{aligned}$$

Let  $f_n(x) = f(x + n)$  for  $n \in \mathbb{N}$ . From (5), we observe that

$$(11) \quad I_{-1}(f_n) + (-1)^{n-1} I_{-1}(f) = 2 \sum_{l=0}^{n-1} (-1)^{n-1-l} f(l), \quad (\text{see [9, 10]}).$$

In (11), when  $n = 1$ , we have

$$(12) \quad I_{-1}(f_1) + I_{-1}(f) = 2f(0).$$

We note that

$$(13) \quad (1-t)^{-m} = \sum_{l=0}^{\infty} \binom{-m}{l} (-1)^l t^l = \sum_{l=0}^{\infty} \langle m \rangle_l \frac{t^l}{l!}, \quad (\text{see [4]}).$$

where  $\langle x \rangle_0 = 1$  and  $\langle x \rangle_n = x(x+1)(x+2) \cdots (x+n-1)$ , ( $n \geq 1$ ).

In this paper, we consider the new two-variables Fubini-type numbers and polynomials arising from p-adic fermionic integrals on  $\mathbb{Z}_p$  and those degenerate version. We derived some interesting properties, recurrence relations and explicit formulas for those numbers and polynomials.

## 2. A NEW FUBINI-TYPE NUMBERS AND POLYNOMIALS

We naturally consider

$$(14) \quad \int_{\mathbb{Z}_p} (y(e^t + 1))^z e^{xt} d\mu_{-1}(z) = \frac{2e^{xt}}{1 + y(e^t + 1)},$$

and

$$(15) \quad \int_{\mathbb{Z}_p} (y(e_\lambda(t) + 1))^z e_\lambda^x(t) d\mu_{-1}(z) = \frac{2e_\lambda^x(t)}{1 + y(e_\lambda(t) + 1)}.$$

When  $x = 0$ , we have

$$(16) \quad \int_{\mathbb{Z}_p} (y(e^t + 1))^z d\mu_{-1}(z) = \frac{2}{1 + y(e^t + 1)},$$

and

$$(17) \quad \int_{\mathbb{Z}_p} (y(e_\lambda(t) + 1))^z d\mu_{-1}(z) = \frac{2}{1 + y(e_\lambda(t) + 1)}.$$

From (14), we consider the two variables Fubini-type polynomials given by

$$(18) \quad \frac{1}{1 + y(e^t + 1)} e^{xt} = \sum_{n=0}^{\infty} J_n(y | x) \frac{t^n}{n!}.$$

When  $x = 0$ ,  $J_n(y) = J_n(y | 0)$  are called the Fubini-type numbers as

$$(19) \quad \frac{1}{1+y(e^t+1)} = \sum_{n=0}^{\infty} J_n(y) \frac{t^n}{n!}.$$

From (15), we naturally the degenerate two variables Fubini-type polynomials of the first kind given by

$$(20) \quad \frac{1}{1+y(e_\lambda(t)+1)} e_\lambda^x(t) = \sum_{n=0}^{\infty} J_{n,\lambda}(y|x) \frac{t^n}{n!}.$$

When  $x=0$ ,  $J_{n,\lambda}(y) = J_{n,\lambda}(y|0)$  are called the degenerate Fubini-type numbers as

$$(21) \quad \frac{1}{1+y(e_\lambda(t)+1)} e_\lambda^x(t) = \sum_{n=0}^{\infty} J_{n,\lambda}(y|x) \frac{t^n}{n!}.$$

When  $y = -\frac{1}{3}$ , we note that  $\frac{3}{2-e^t} = 3\beta_n = J_n\left(-\frac{1}{3}\right)$ .

When  $y=1$ , we observe that

$$(22) \quad \begin{aligned} \frac{1}{2+e^t} &= \sum_{n=0}^{\infty} J_n(1) \frac{t^n}{n!} = \frac{1}{2} \sum_{k=0}^{\infty} \left(-\frac{e^t}{2}\right)^k \\ &= \frac{1}{2} \sum_{k=0}^{\infty} \left(-\frac{1}{2}\right)^k \sum_{n=0}^{\infty} k^n \frac{t^n}{n!} = \sum_{n=0}^{\infty} \left(\frac{1}{2} \sum_{k=0}^{\infty} \left(-\frac{1}{2}\right)^k k^n\right) \frac{t^n}{n!}. \end{aligned}$$

From (22), we have

$$J_n(1) = \frac{1}{2} \sum_{k=0}^{\infty} \left(-\frac{1}{2}\right)^k k^n.$$

For  $y \neq -\frac{1}{2}$ , we observe that

$$(23) \quad \begin{aligned} \frac{e_\lambda^x(t)}{1+y(e_\lambda(t)+1)} &= \frac{e_\lambda^x(t)}{(1+2y)+y(e_\lambda(t)-1)} \\ &= \frac{1}{1+2y} \frac{e_\lambda^x(t)}{1+\frac{y}{1+2y}(e_\lambda(t)-1)} \\ &= \frac{1}{1+2y} \sum_{n=0}^{\infty} F_{n,\lambda}\left(-\frac{y}{1+2y} \mid x\right) \frac{t^n}{n!}. \end{aligned}$$

Comparing the coefficients of (21) and (23), we have

$$(24) \quad J_{n,\lambda}(y|x) = \frac{1}{1+2y} F_{n,\lambda}\left(-\frac{y}{1+2y} \mid x\right).$$

When  $x=0$ , we have

$$(25) \quad J_{n,\lambda}(y) = \frac{1}{1+2y} F_{n,\lambda}\left(-\frac{y}{1+2y}\right).$$

When  $\lambda \rightarrow 0$ , we have

$$(26) \quad J_n(y|x) = \frac{1}{1+2y} F_n\left(-\frac{y}{1+2y} \mid x\right),$$

and

$$(27) \quad J_n(y) = \frac{1}{1+2y} F_n\left(-\frac{y}{1+2y}\right).$$

From (1) and (21), we note that

$$(28) \quad \begin{aligned} \sum_{n=0}^{\infty} J_{n,\lambda}(y|x) \frac{t^n}{n!} &= \frac{e_\lambda^x(t)}{1+y(e_\lambda(t)+1)} \\ &= \sum_{j=0}^{\infty} J_{j,\lambda}(y) \frac{t^j}{j!} \sum_{l=0}^{\infty} (x)_{l,\lambda} \frac{t^l}{l!} \\ &= \sum_{n=0}^{\infty} \sum_{l=0}^n \binom{n}{l} J_{n-l,\lambda}(y) (x)_{l,\lambda} \frac{t^n}{n!}. \end{aligned}$$

Comparing the coefficients of the both side of (28), we get

$$(29) \quad J_{n,\lambda}(y|x) = \sum_{l=0}^n \binom{n}{l} J_{n-l,\lambda}(y) (x)_{l,\lambda}.$$

When  $\lambda \rightarrow 0$ , we have

$$(30) \quad J_n(y|x) = \sum_{l=0}^n \binom{n}{l} J_{n-l}(y) x^l.$$

The degenerate ordered Bell polynomials are given by the generating function

$$(31) \quad \frac{1}{2-e_\lambda(t)} e_\lambda^x(t) = \sum_{n=0}^{\infty} \beta_{n,\lambda}(x) \frac{t^n}{n!}.$$

When  $x = 0$ ,  $\beta_{n,\lambda}^{(r)} = \beta_{n,\lambda}^{(r)}(0)$  are called the degenerate ordered Bell numbers. When  $y = -\frac{1}{3}$ , we have

$$(32) \quad J_{n,\lambda}\left(-\frac{1}{3}|x\right) = 3F_{n,\lambda}(1|x) = 3\beta_{n,\lambda}(x).$$

When  $\lambda \rightarrow 0$  at (32),

$$(33) \quad J_n\left(-\frac{1}{3}|x\right) = 3F_n(1|x) = 3\beta_n(x).$$

**Theorem 2.1.** For  $n \geq 0$ , we have

$$J_{n,\lambda}(y) = \frac{1}{1+2y} \sum_{k=0}^n \left(-\frac{y}{1+2y}\right)^k k! S_{2,\lambda}(n, k).$$

When  $\lambda \rightarrow 0$ , we have

$$J_n(y) = \frac{1}{1+2y} \sum_{k=0}^n \left(-\frac{y}{1+2y}\right)^k k! S_2(n, k).$$

*Proof.* From (3) and (20), we observe that

$$\begin{aligned}
 \frac{1}{1+y(e_\lambda(t)+1)} &= \frac{1}{1+2y} \frac{1}{1+\frac{y}{1+2y}(e_\lambda(t)-1)} \\
 &= \frac{1}{1+2y} \sum_{k=0}^{\infty} \left(-\frac{y}{1+2y}\right)^k (e_\lambda(t)-1)^k \frac{k!}{k!} \\
 (34) \qquad &= \frac{1}{1+2y} \sum_{k=0}^{\infty} k! \left(-\frac{y}{1+2y}\right)^k \sum_{n=k}^{\infty} S_{2,\lambda}(n,k) \frac{t^n}{n!} \\
 &= \frac{1}{1+2y} \sum_{n=0}^{\infty} \left(\sum_{k=0}^n k! \left(-\frac{y}{1+2y}\right)^k S_{2,\lambda}(n,k)\right) \frac{t^n}{n!}.
 \end{aligned}$$

By (20) and (34), we have

$$J_{n,\lambda}(y) = \frac{1}{1+2y} \sum_{k=0}^n \left(-\frac{y}{1+2y}\right)^k k! S_{2,\lambda}(n,k).$$

□

From (3), it is easy to see that

$$(35) \qquad S_{2,\lambda}(n,k) = \frac{1}{k!} \sum_{c=0}^k \binom{k}{c} (-1)^{k-c} (c)_{n,\lambda}.$$

From (35), we obtain the following corollary.

**Corollary 2.2.** *For  $n \geq 0$ , we get*

$$J_{n,\lambda}(y) = \frac{1}{1+2y} \sum_{k=0}^n \sum_{l=0}^k \binom{k}{l} (-1)^l (l)_{n,\lambda} \left(\frac{y}{1+2y}\right)^k.$$

When  $\lambda \rightarrow 0$ , we have

$$J_n(y) = \frac{1}{1+2y} \sum_{k=0}^n \sum_{l=0}^k \binom{k}{l} (-1)^l l^n \left(\frac{y}{1+2y}\right)^k.$$

**Theorem 2.3.** *For  $n \geq 0$ , we have*

$$J_{n,\lambda}(y \mid x+1) = \sum_{l=0}^n \binom{n}{l} (1)_{n-l,\lambda} J_{l,\lambda}(y \mid x).$$

When  $\lambda \rightarrow 0$ , we have

$$J_n(y \mid x+1) = \sum_{l=0}^n \binom{n}{l} J_l(y \mid x).$$

*Proof.* From (3) and (20), we note that

$$\begin{aligned}
 \frac{e_\lambda^{x+1}(t) - e_\lambda^x(t)}{1 + y(e_\lambda(t) + 1)} &= \frac{e_\lambda^x(t)(e_\lambda(t) - 1)}{1 + y(e_\lambda(t) + 1)} \\
 (36) \qquad &= \sum_{l=0}^{\infty} J_{l,\lambda}(y \mid x) \frac{t^l}{l!} \sum_{j=1}^{\infty} (1)_{j,\lambda} \frac{t^j}{j!} \\
 &= \sum_{n=1}^{\infty} \sum_{l=0}^{n-1} \binom{n}{l} J_{l,\lambda}(y \mid x) (1)_{n-l,\lambda} \frac{t^n}{n!}.
 \end{aligned}$$

On the other hand, by (20), we have

$$(37) \qquad \frac{e_\lambda^{x+1}(t) - e_\lambda^x(t)}{1 + y(e_\lambda(t) + 1)} = \sum_{n=0}^{\infty} \{J_{n,\lambda}(y \mid x + 1) - J_{n,\lambda}(y \mid x)\} \frac{t^n}{n!}.$$

Comparing the coefficients of (36) and (37), for  $n \geq 1$ , we have

$$(38) \qquad J_{n,\lambda}(y \mid x + 1) - J_{n,\lambda}(y \mid x) = \sum_{l=0}^{n-1} \binom{n}{l} (1)_{n-l,\lambda} J_{l,\lambda}(y \mid x).$$

From (38), we get

$$\begin{aligned}
 (39) \qquad J_{n,\lambda}(y \mid x + 1) &= J_{n,\lambda}(y \mid x) + \sum_{l=0}^{n-1} \binom{n}{l} (1)_{n-l,\lambda} J_{l,\lambda}(y \mid x) \\
 &= \sum_{l=0}^n \binom{n}{l} (1)_{n-l,\lambda} J_{l,\lambda}(y \mid x).
 \end{aligned}$$

□

**Theorem 2.4.** For  $n \geq 0$  and  $y \neq 1$ , we have

$$\frac{1}{1-y} J_{n,\lambda} \left( \frac{y}{1-y} \mid x \right) = \sum_{l=0}^{\infty} (-1)^l y^l (l+x)_{n,\lambda}.$$

When  $\lambda \rightarrow 0$ , we have

$$\frac{1}{1-y} J_n \left( \frac{y}{1-y} \mid x \right) = \sum_{l=0}^{\infty} (-1)^l y^l (l+x)^n.$$

*Proof.* By (1), when  $y \neq 1$ , we have

$$\begin{aligned}
 (40) \qquad \frac{1}{1-y} \frac{e_\lambda^x(t)}{1 + \frac{y}{1-y}(e_\lambda(t) + 1)} &= \frac{e_\lambda^x(t)}{1 + ye_\lambda(t)} = \sum_{l=0}^{\infty} (-1)^l y^l e_\lambda^{l+x}(t) \\
 &= \sum_{n=0}^{\infty} \left( \sum_{l=0}^{\infty} (-1)^l y^l (l+x)_{n,\lambda} \right) \frac{t^n}{n!}.
 \end{aligned}$$

On the other hand, by (19), we get

$$(41) \qquad \frac{1}{1-y} \frac{e_\lambda^x(t)}{1 + \frac{y}{1-y}(e_\lambda(t) + 1)} = \frac{1}{1-y} \sum_{n=0}^{\infty} J_{n,\lambda} \left( \frac{y}{1-y} \mid x \right) \frac{t^n}{n!}.$$

Comparing the coefficients of the both side of (40) and (41), we have the desired result. □

When  $x = 0$  in Theorem 5, we obtain the following corollary .

**Corollary 2.5.** *When  $x = 0$ , we have*

$$\frac{1}{1-y} J_{n,\lambda} \left( \frac{y}{1-y} \right) = \sum_{l=0}^{\infty} (-1)^l (l)_{n,\lambda} y^l = 1 - (1)_{n,\lambda} y + (2)_{n,\lambda} y^2 - (3)_{n,\lambda} y^3 + \dots ,$$

and

$$\frac{1}{1-y} J_n \left( \frac{y}{1-y} \right) = \sum_{l=0}^{\infty} (-1)^l y^l l^n = 1 - y + 2^n y^2 - 3^n y^3 + \dots .$$

**Theorem 2.6.** *For  $n \geq 0$ , we have*

$$J_{n,\lambda}(y) = \sum_{k=0}^n (-1)^k S_{2,\lambda}(n, k) \left( y \frac{d}{dy} \right)_k \frac{1}{1+2y} .$$

When  $\lambda \rightarrow 0$ , we have

$$J_n(y) = \sum_{k=0}^n (-1)^k S_2(n, k) \left( y \frac{d}{dy} \right)_k \frac{1}{1+2y} ,$$

where  $\left( y \frac{d}{dy} \right)_k = y \frac{d}{dy} (y \frac{d}{dy} - 1) \cdots (y \frac{d}{dy} - (k - 1))$ .

*Proof.* We note that

$$(42) \quad \left( y \frac{d}{dy} \right)_k \frac{1}{1+2y} = \left( y \frac{d}{dy} \right)_k \left( \sum_{j=0}^{\infty} (-2y)^j \right) = \sum_{j=0}^{\infty} (-2)^j (j)_k y^j .$$

By Theorem 1, (13) and (42), we observe that

$$\begin{aligned}
 J_{n,\lambda}(y) &= \sum_{k=0}^n (-1)^k y^k k! S_{2,\lambda}(n, k) \left( \frac{1}{1+2y} \right)^{k+1} \\
 &= \sum_{k=0}^n (-1)^k k! S_{2,\lambda}(n, k) y^k \sum_{j=0}^{\infty} \langle k+1 \rangle_j \frac{(-2y)^j}{j!} \\
 &= \sum_{k=0}^n (-1)^k k! S_{2,\lambda}(n, k) y^k \sum_{j=0}^{\infty} \binom{k+j}{j} (-2)^j y^j \\
 &= \sum_{j=0}^{\infty} (-2)^j \sum_{k=0}^n (-1)^k k! S_{2,\lambda}(n, k) \binom{k+j}{k} y^{k+j} \\
 (43) \quad &= \sum_{j=0}^{\infty} (-2)^j \sum_{k=0}^n (-1)^k k! S_{2,\lambda}(n, k) \binom{j}{k} y^j \\
 &= \sum_{j=0}^{\infty} (-2)^j y^j \sum_{k=0}^n (-1)^k S_{2,\lambda}(n, k) (j)_k \\
 &= \sum_{k=0}^n (-1)^k S_{2,\lambda}(n, k) \sum_{j=0}^{\infty} (-2)^j y^j (j)_k \\
 &= \sum_{k=0}^n (-1)^k S_{2,\lambda}(n, k) \left( y \frac{d}{dy} \right)_k \frac{1}{1+2y}.
 \end{aligned}$$

From (43), we obtain the desired identity. □

Boyadzhiev [1] introduced

$$(44) \quad \sum_{n=0}^{\infty} \frac{g^{(n)}(0)}{n!} f(n) x^n = \sum_{n=0}^{\infty} \frac{f^{(n)}(0)}{n!} \sum_{k=0}^n S_2(n, k) x^k g^{(k)}(x),$$

where  $f, g$  are appropriate functions.

**Theorem 2.7.** For  $n \geq 0$ , we have

$$(-2)^n n^n y^n = J_n(y),$$

and

$$(yD)^n \left( \frac{1}{1+2y} \right) = J_n(y).$$

*Proof.* Let us take  $g(y) = \frac{1}{1+2y}$ , ( $|2y| < 1$ ). Then

$$(45) \quad \frac{g^{(n)}(0)}{n!} = (-1)^n 2^n, \quad (n \geq 0),$$

and

$$(46) \quad g^{(k)}(x) = \frac{(-1)^k k! 2^k}{(1+2y)^{k+1}}.$$

By (44), (45), (46) and Theorem 1, we have

$$\begin{aligned}
 \sum_{n=0}^{\infty} (-2)^n f(n) y^n &= \sum_{n=0}^{\infty} \frac{f^{(n)}(0)}{n!} \sum_{k=0}^n S_2(n, k) y^k (-1)^k \frac{k!}{(1+2y)^{k+1}} \\
 (47) \qquad &= \frac{1}{1+2y} \sum_{n=0}^{\infty} \frac{f^{(n)}(0)}{n!} \sum_{k=0}^n \left(-\frac{y}{1+2y}\right)^k k! S_2(n, k) \\
 &= \sum_{n=0}^{\infty} \frac{f^{(n)}(0)}{n!} J_n(y).
 \end{aligned}$$

Comparing the coefficients of the both sides of (47), we have

$$(48) \qquad (-2)^n f(n) y^n = \frac{f^{(n)}(0)}{n!} J_n(y).$$

Let  $f(x) = x^n$ ,  $n = 0, 1, 2, \dots$  with  $0^0 = 1$ . Then, we get  $f^{(n)}(0) = n!$ .

From (48), we obtain

$$(49) \qquad (-2)^n n^n y^n = J_n(y).$$

On the other hand, we observe that

$$(50) \qquad (yD)^n y^n = n^n y^n \quad \text{and} \quad \frac{1}{1+2y} = \sum_{n=0}^{\infty} (-2)^n y^n, \quad (|2y| < 1).$$

By (49) and (50), we have

$$(51) \qquad (yD)^n \left( \frac{1}{1+2y} \right) = \sum_{n=0}^{\infty} (-2)^n (yD)^n y^n = \sum_{n=0}^{\infty} (-2)^n n^n y^n = \sum_{n=0}^{\infty} J_n(y).$$

By (49) and (51), we get the desired result.  $\square$

**Corollary 2.8.** For  $l \geq 1$ , we have

$$(1 - 2 + 2^2 2^2 - 2^3 3^3 + \dots + (-2)^n n^n) y^n = \frac{1}{1-y} J_n(y).$$

*Proof.* For  $l \in \mathbb{N}$ , from (51) in Theorem 7, we observe that

$$\begin{aligned}
 (52) \qquad \frac{1}{1-y} \sum_{n=0}^{\infty} J_n(y) &= \frac{1}{1-y} \sum_{k=0}^{\infty} (-2)^k k^k y^k = \sum_{l=0}^{\infty} y^l \sum_{k=0}^{\infty} (-2)^k k^k y^k \\
 &= \sum_{n=0}^{\infty} \left( \sum_{k=0}^n (-1)^k 2^k k^k \right) y^n.
 \end{aligned}$$

By (52), we obtain the desired identity.  $\square$

**Theorem 2.9.** For  $n \geq 0$ , we have

$$\int_0^{\infty} \phi_{n,\lambda}(-xy) e^{x(2y-1)} dx = J_{n,\lambda}(y).$$

When  $\lambda \rightarrow 0$ , we have

$$\int_0^{\infty} \phi_n(-xy) e^{x(2y-1)} dx = J_n(y).$$

*Proof.* From (17), we observe that

$$(53) \quad \int_0^\infty e^{-xy(e_\lambda(t)+1)} e^{-x} dx = \int_0^\infty e^{-x(1+y(e_\lambda(t)+1))} dx \\ = \frac{1}{1+y(e_\lambda(t)+1)} = \sum_{n=0}^\infty J_{n,\lambda}(y) \frac{t^n}{n!}.$$

On the other hand, by (5), we get

$$(54) \quad \int_0^\infty e^{-xy(e_\lambda(t)+1)} e^{-x} dx = \int_0^\infty e^{-xy(e_\lambda(t)-1)} e^{2xy-x} dx \\ = \sum_{n=0}^\infty \int_0^\infty \phi_{n,\lambda}(-xy) e^{x(2y-1)} dx.$$

By (53) and (54), we have the desired identity.  $\square$

### Acknowledgments

The author thank Jangjeon Institute for Mathematical Science for the support of this research.

### Availability of data and material

Not applicable.

### Funding

The author is supported by the Basic Science Research Program, the National Research Foundation of Korea, (NRF-2021R1F1A1050151).

### Ethics approval and consent to participate

The authors declare that there is no ethical problem in the production of this paper.

### Competing interests

All authors declare no conflict of interest.

## REFERENCES

- [1] Boyadzhiev K.N. A series transformation formuylar and relatd polynomials. International Journal of Mathematics and Mathematical Sciences. 2005;23:3849-3866.
- [2] Carlitz L. Degenerate stirling, Bernoulli and Eulerian numbers. Util Math. 1979;15:51-88.
- [3] Cayley A. On the analytical forms called trees-Part II, Philos. Mag. 1859;18:374-378.
- [4] Comtet L. Advanced combinatorics: the art of finite and infinite expansions. DordrechtHolland, Boston: D. Reidel Publishing Company; 1974. (Translated from the French by J. W. Nienhuys).
- [5] Djordjevic GB, Milovanovic GV. Special classes of polynomials. University of Nis, Faculty of Technology Leskovac; 2014.
- [6] Kilar N, Simsek Y. A new family of Fubini type numbers and polynomials associated with Apostol-Bernoulli numbers and polynomials. J Korean Math Soc. 2017;54(5):1605-1621.
- [7] Kilar N, Simsek Y. Identities and relations for Fubini type numbers and polynomials via generating functions and  $p$ -adic integral approach. Publ Inst Math (Beograd) (N.S.). 2019;106(120):113-123.

- [8] Kim T. A note on degenerate Stirling polynomials of the second kind, Proceedings of the Jangjeon Mathematical Society. 2017;20(3):319-331.
- [9] Kim T. A note on  $q$ -Volkenborn Integration, *Proced. Jangjeon Math. Soc.*, 2005;8(1):13-17.
- [10] Kim T. On the analogues of Euler numbers and polynomials associated with  $p$ -adic  $q$ -integral on  $\mathbb{Z}_p$  at  $q = -1$ , *J. Math. Anal. Appl.* 2007;331:779-792.
- [11] Kim T, Kim DS, Dolgy DV. On partially degenerate Bell numbers and polynomials. *Proc Jangjeon Math Soc.* 2017;20(3):337-345.
- [12] Kim T, Kim DS, Jang G-W. A note on degenerate Fubini polynomials. *Proc Jangjeon Math Soc.* 2017;20(4):521-531.
- [13] Kim T, Kim DS., Kim HY., Lee H., Some properties on degenerate Fubini polynomials, *Appl. Math. Sci. Eng.*, 2022; 30(1):235-248 <https://doi.org/10.1080/27690911.2022.2056169>
- [14] Shiratani K., Yokoyama, S. An application of  $p$ -adic convolutions, *Mem. Fac. Sci. Kyushu Univ. Ser. A.* 1982;36(1):73-83.
- [15] Simsek Y. Explicit formulas for  $p$ -adic integrals: approach to  $p$ -adic distributions and some families of special numbers and polynomials, *Montes Taurus J. Pure Appl. Math.* ,2019;1(1):1-76.
- [16] Su D., He Y. Some Identities for the Two variable Fubini Polynomials. *Mathematics.* 2019;7(115): doi:10.3390/math7020115
- [17] Vladimirov VS., Volovich IV., Zelenov EI.  *$p$ -adic Analysis and Mathematical Physics*, World Scientific, Singapore, 1994.

DEPARTMENT OF MATHEMATICS EDUCATION, DAEGU CATHOLIC UNIVERSITY, GYEONGSAN 38430, REPUBLIC OF KOREA

*E-mail address:* [hkkim@cu.ac.kr](mailto:hkkim@cu.ac.kr)

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA

*E-mail address:* [kwangwoonmath@kw.ac.kr](mailto:kwangwoonmath@kw.ac.kr)